
 

planted CliqueModel
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Question whencanwe recoverthe plantedclique
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Question

Howto efficiently recover the plantedclique
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Next We will study three efficient algorithms
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Degreetest
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For the two distributions to be mostly separated
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The extradogT factor is needed to accomodate

the possibility that some nodes outside Kwill
have atypically high degrees and some nodes in K
will have atypically low degrees



Formally let Ts setof kvertees with the highest
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Gaussian approx of Binomial Heuristic
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To Justify this Gaussian Approx Heuristic

We will use Hoeffding's inequality proved later
inLectureg
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For analyzy the iterated degree test we need to quantify the

approx of Bino by Gaus in Kolmogorov Smirnovdistance
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Ideals relate size CZ

Degree test needs z login

Can we subsample the graph in a clever way so that

aftersubsaply relate size increases to log n
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idea we will endup with recovery just a subsetoff
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Q How to recover the entire clique

use the record clique as a seed set
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Let Ts be the subset of the hiddenclique that is
found
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Now we'll show that Te Ek Whp It remains to show

we can expand it to the entire clique
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